X = B &
7 A 11 B (B) :@ SEHE 58T -2-FE
® 54 8 : 30 =3
@ AR (RFEE) 8 : 30~ 8 : 55
@ SRE (KF7mT i) 9 : 00~ 9 : 50
@ HE=H® (SHE) 10 : 00 ~ 10 : 30
[ 5 F 1 [ = F 1
O EAZY—#H 10 : 00 ~ 10 : 40 O EAZY—#E 10 : 00 ~ 10 : 40
O FH M 10 : 30 ~ 11 : 30
O BHEANEYTHE 10 @ 40 ~ 12 : 04 O LTMEAFWYTHE 10 @ 40 ~ 12 : 04 L
* BAEAN 8453 HDT Y —HHH * P A2140 X 243 X 2[A|=84%7 1
@ FliA (BLERIZTO) 12 : 15 ~ 12 : 20 Bem
O HE7Y—#H 12 : 30 ~ 13 : 00 O HE7Y—#H 12 : 30 ~13 : 00 |
O BrHfEEMYCoE 13 @ 00 ~ 14 : 20 O ZHEFSCHE 13 : 00 ~14 : 20 |
* BFHE 80nMDTY—#iE HE * L TE4ATF — L X 553 X 4[] =804 1
@ PAfH 15 : 00 l
7 AR 12 B (R) : #HNsE. GA-EAGFEGRR REX
©® G 8 : 00 B
@ =ERE () 8 : 10~ 8 : 30 l
@ = (HR) 8 :30~ 9 : 00 l
[ 8 F ] T G !
O MAZY—##E (#h7eL) 8 : 30 ~ 9 : 00| HFE|O MAZY—HE (#h72L) 8 : 30~ 9 : 00 |
O B A= 9 : 00~ 10 : 29 O e A=l 9 : 00 ~10 : 29 i
* BTEANLTH X 243 X 20| =684y + 21537 ) — i * LFEN2140 X 257 X 21 =844y + #5557 | BARASS
O B Ntk 10 : 45 ~ 13 : 43 O Lol Ntk 10 : 45 ~ 13 : 43| UiRvik
* i H ANEZ IR0y 1684 + 104y = 178%) ANz EBIR5 5
k LCFDONECHEBEHE 154y X 420 = 16853 (2144 X 2 H =427 1)
HE BAEIS 5
O HE7)—#E (di7eL) 14 : 00 ~ 14 : 20 O HE7Y—#8 (#72L) 14 : 00 ~ 14 : 20| #&KE
© wHEJET, 2 104> l
© HIKIES, 4 105y l
O F+Hiknis 14 : 20 ~ 15 : 16 O Lo Hikn s 14 : 20 ~15 : 16 |
* L FFHRATF — L X T4y X 2[01 =564y l
O Bk 15 : 20 ~ 15 : 50 O ZurHIREE 15 :20~15 : 50 |
@ J i Bk 15 : 50 ~ 16 : 45 !
@ A=K 16 : 50 ~ 17 : 00 l
@ LRSS T — oA BEDE 17 @ 06 ~ 17 @ 30
@ BAfH 17 : 50 l

FIf, A LHIT, DD STH BT SO TET T2,

L S

FRZAT OB BRFLEF SRR, 2 —F G5 (BRFELE, a—FLEBHLLE) 2R H T 5,

BEIEAMEA L DS L HEITTIT ), (BT —28 HERFROZ WOz itd %)

B OETHRE S BE o HA X, 280 P CETI 5,




FesHAFRIFEEAUTRE kiR

LI LG

SH3ETR128

EFRERKREE
kiR (BFEE)
N EEE
REOE fiﬁ“% - JB
(BER) #R L5404 £ pER= &5t
KT FEZ2Q) EiF SHWAG) /MR OKHQ)
EREhERB . - , .
1 (EE 288 N #EK(2) HH FEQ) fTER BF(2)
ROEBQ) HEH Kt KIE EKRA0)
EIRFEERC e — .
2 (EE 258 BEE BEx() e BRO) BE RS
KiF =8Q) s &)
Fith RA(3) wo sHE3) KR (3)
EIRFEDERA s g PN
3 (EE 248 7 EEFE(3) RS #@2)  Fm Bz
b (ZFEHE)
BFE B
HEEIE Ei4 - [ iva
#R D E =l &it
M 2= #BRK BXREO) Bt FEQR)
L HEPER e e o
1 (B0 EE) KB BWEQ) Ik TR
kB &m2) 3—<v TYH2)
ERKR EEGB) FE KEO) FIER M E(3)
KIREE P2 e oo
2 (EE B g FEQ) RN #LVAR)
tEaK #HEQG) #HK REBG)  KiE FBREG)
E2KRK HSV(3) TR KIE®) 1l FKREQ)
JbRE A
3 %, % YEA 71
(WO ) BAR #2) RE BHEQ)
L@ OEFH()  FH OEREG) KM #EB(2)
o EFEQ) L FHEFG TEH HEEQ)
T/NER AR
4 E 4 & -
(Fi% BT FE BEFOQ) =F BEQ)
EarRK EKEQ) I BBEA) —% ¥H1)




HESELTFRIFHLAGKEAS HikR BHAER THBFTR128

EFREKREE
HohiR (BFEN)
/R BARE
w| 2L =F4 | BE | EBS
ol | e | L | e—7 | || e |weE

1 HE Bz | Lb LAOTIF | 2 | ERE| B HiE 1 10

2 it R L I5EL 3 | ®RE| EE &8 2 1"

3 Fe X | sHh (EE56H | 1 | ERE | EIE &RE 3 12

4 7 RENE IZL YwsSE 3 | ®RE| EE &8 4 13
1

5 INR KED BIES Lk 3 | &RmM EIIE ImiE 5 14

6 B Bk | € L&SRA | 2 | BRE| EE &g 6 15

7 | B WA | hIFL 5L | 3 | ERE| HE HiE 7 16

8 (1T m =% 25 PECH [FL | 3 | ERE|  BIE $HiE 8 17

9 BEE Bt | <FISh =AEB| 1 | ERE | EIE g 9 1

10 Aif =z FBo1F UL 3 | ERmM B Enig 10 2

1 KiF EiR BEDEF (FWE | 1 | ERE | EE HE 1 3

12 KiR D BBEH LA 3 | ERE| BEE &8 12 4
2 13 FEH Gt | GHPLE PS50 | 2 | ERE BIE Enig 13 5

14 FIER E2F HR 53T 2 | &RE| HEE HiE 14 6

15 ROEH WFH hAA | 2 | &R | EE HiE 15 7

16 EH 8F Whtz LY | 2 | ERAE| BIE Hig 16 8

17 BEA # CEMLY L&D 2 | ®RE| EE &8 17 9




BWESEATFRIFRBEFEAS FkE SARR REIA 128

EFRERER
R (ZFEAN)

- B _ e erd YR BARE
g % e = ’1; E r; D E me | A% | A r; D E e | A% | E | A |ReE

IE IE

1| B OKY | =pEL &Y [ 1| dbb-RE | A —E | 12

2 | KB WK | £RLE AL | 2 E3% no EmE |2 13

3 | B RS | BLdb s | 3 | KR =g G | 8 14
14| B E& | 260 nhAa | 3 +E INR BRF | 4 15

5 |fEAk fEX| &&= @4 | 3| KRE | BB hE |5 16

6 | BRA f2x | ALon Um | 3| fEEd | = XHTF| 6 17

7| iRHE R&R ahtz FH 2 ERE | ERL EF=TF| 7 18

8 | AH EE | 2T HDA| 1 R /NES =A g 8 19

9 | AEE TH | LWhET ToHL | 3 | BRME | Kk BIF | 9 20

10 M HER | SEPL BAH | 3 b | Wi #F | 10 21
2| 11| BR & t=h# Wi | 3 TR Hep BEF | N 2

12| kg B &3 Lo 1 itk i fERX |12 1

13| HEE MF | sBET YS |3 TN | Tk BEF| 13 2

| R OBE | s0bvb 34 | 2 dtt it fEx | 14 3

15| KA TEHE | HFES HhA | 3 | BE-AR | AE Em |15 4

16| EE DB | bIAR BB | 1 flidt ERRK KE| 16 5

17| &L NE | Lerd ZFB | 3 L% N BRF | 17 6
318 | O Bk | Sh<h UBs |1 TR | FHAXK BEF| 18 7

19| B SE | =0EL B0 | 1 flidt ERR KE |19 8

20| Ik HP &3 Yo 2 RE BE BF |20 9

21| BA EB | Lbhis H3= | 3 % INE BRTF | 2 10




